& L
= ) AIRAANNAUAUADINWUIUN

ia: Juii: AZUWUL:
T+ 206+ 2x — 6x° + 2x° 8> + 7% — 4’ — T — &
& — 8x+ 4(x2 — 5x3) — 4x? Sx? + 2x — 6x + 4(x2 — 8x)
Ox + 7x° + 3(4x + 8x%) — 4x 2% = 3x+ 2(4x° — 2x) — 3x°
6x — 9 —x% + 4x — Tx° 2(x—9x)—9x3+2x2+6x
8x +x° — dx’ + 2(5x + 5x) X+ 6x° +x° + 3(3)63 — 4x2)
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ifa: Fusi: ATLUL:
Tx+ 200 + 20— 67 + 2x° 8 + T —dx* — Tx* — 8
43 — 6% + 9x —4x?
8x — 8x + 4(x% — 5x°) — 4x? 5x% + 2x — 6 + 4(x% — 8x)
—20x° 9% — 36x
Ox + 7x> + 3(4x + 8x°) — 4x 20 = 3x+2(4x° — 2%) — 3x°
31 + 17x 7 — Tx
6x — Ox* — x% + dx — Tx? 2(x—9x)—9x3+2x2+6x
—17x* + 10x —0x3 + 2% — 10x
8% + x° — 4x” + 2(5x + 5%) 9 + 6 +x° + 3(3x° — 4x?)
5¢ + 20x 16x° — 3x2
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